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Divide a 3 or 4-digit number by a 1-digit number

Grade 3 Division Worksheet

Find the missing quotient:

Y 5600 + 7 = 2 1800 + 6 =
9 350 + 5 = 9180 + 3 =
% 2800 + 4 = ® 1200 + 2 =
N 270 + 9 = ® 300 + 5 =
9 5400 + 6 = 10420 + 7 =
™800 + 4 = 2 800 + 8 =
13 600 ~ 3 = % 1600 + 2 =
15 100 + 1 = 1000 + 2 =

Online reading & math for K-5 www.k5learning.com


http://www.k5learning.com/free-worksheets-for-kids

u.ear:Q.’?g

Answers

Y 800

» 700

% 900

200

19 200

100

2300

% 600

0 60

2100

800

' 500
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